
 

Cubigel Unit Cover Kit          
 

 Part No: CUBICOVER 

Components Kit Components 

Qty Description 

1 Top Panel 

1 L/H Side Panel 

1 R/H Side Panel 

1 Front Panel 

1  
Rear Strap - Optional 
(suits smaller condenser height) 

2 Unit Cover Feet 

6 Self-Drilling TEK Screws (10G x 3/4")  

21 Stainless M6 Bolts  

21 Stainless M6 Flat Washers 

21 Stainless M6 Spring Washers 

 

Rear Strap - Optional 
(suits smaller condenser height) 

Assembly Tips 

1 
Place Top Panel upside down onto a  
non-abrasive flat surface. 

2 

Fit Side Panels into the Top Panel using the 
bolts, flat washers & spring washers supplied.  
 

Note: at this stage do not tighten bolts. 

3 

Place the Unit Cover Feet into position & put 
the Condensing Unit on the feet.   

Note: each foot is designed to run from left             
          to right of the unit cover. 

4 
With the Side Panels attached place the unit 
cover over the Condensing Unit. 

5 
Ensure the Front Panel slides freely into place 
behind the Top Panel & the bolts line up with 
the relevant threaded nut-spots.  

6 
Ensure all panels are aligned correctly then 
tighten bolts before securing the unit cover, 
Condensing Unit & feet into position. 

 

 

Note 
 

Self-drilling TEK screws supplied in kit are  
to secure cover to the feet or alternately the  
cover to a flat surface if feet are not utilised. 

 

Fixings to secure the Condensing Unit  
and the Feet are not included in the kit. 

 

 

 

Front View Rear View 

Optional 

Rear Strap 

Date: 22.10.2024 


